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Calculating the Mean or Standard Deviation

Given that 
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 has 4 parts, questions involve being given 3 components and calculating the remaining.
Hint: Rearrange to     x = σz + μ    and  ‘probability’ (( 'z’

1) A product has a normally distributed weight with μ = 1kg.

If the risk of marketing a product more than 50g underweight must be less than 1%, what is the maximum allowable standard deviation?
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2) 20% of ice creams are over 120g If the standard deviation is 24g what was the mean?


.     4 Possible types of problem    .
1) The average length of a bike wheelie is 6.5 m (standard deviation of 1.2 m)

What percentage of wheelies are longer than 8m? 
2) The average length of a bike skid is 4.3 m (standard deviation of  0.8 m)

What is the minimum length of skid to be in the top 10%? 

3) The average bike tyre pressure is 75psi. If the top 15% of tyre pressures are above 96psi, what is the standard deviation of tyre pressures?

4) The standard deviation of bike weights is 1.4kg. If the lightest 20% of bikes are under 8kg, find the average bike weight. 












































































Σ (new) Ex 23.04


 (old) Ex 17.04






















































































maths.nayland.school.nz


_1241795292.unknown

